<o @> (rad)
o
=
a1

o
[N

o
N

< dcotl>)
o
=
a1

X

LA LR RN LR LN LR L L

< 00, > (M)

<opyp, > ()

Ratio

+
o-0.2 o-02f o b el
g g :
14 I _ ;
. 1 -l 241 : e
0.95L

-1 2 3 —1 2 3
10 1 TPlpg)T (PCA t%obeamlinélf) 10 1 TPlpoT (PCA t%obeamlinélf)

—s=— DQM_V0001_R000000001__Global__mkFit1000__ RECO

—e— DQM_V0001_R000000001__Global__mkFit100__RECO
100r T T T = 100

3 E E T
SO /I P ECCCCCTI RS Soees || ¥ SORSPOOOeSS
GO --[{--errirrereeees e s rll
40- :' ....................... 3 LS o A N
P 0 e e  CRatt:: RESTR | TR TRTRNIO 40

. -u-“é ------------ 20

..........................................

...........................................

UL BLELELN LA BLLL L

—805— """""""""" { C -40H
l@c_ L 1 I:,I L1y |: L 11 |: L o wusf
I 3 1 % [
3 1k : o> L 4
O'is(;'l . 10 (:JZ X 0'915(;'1 . 10 02 X
P (PcA 6 beamiindf’ TP (PCA ©©beamiingf

L R
3 :_ ............................................
2 :_ .........................................

- -
o o
0 :— al. *+“a.é;ﬁ'?ﬁf++++;+- S
_1:— -------------------------- P

Lok Ll T Al
it Tt
L T

—1 ; I : 2 3
10 1 TPl[:g)T (PCA t%)obeamlin%)o



	Contents
	Page 1


